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Name Date Class

Proportional Relationships

(B8 Puzzles, Twisters & Teasers: Cool Runner!

Fill in the crossword puzzle. Unscramble the circled letters to
solve the riddle.

Down
1. A comparison to 1 of something is a rate.

2. & 4. Hector earns $24 for 3 hours of work, while Myrna earns
$17 for 2 hours. We would say Myrna’s rate is a

2 4
3. A comparison of two quantities using division.
6. The ratio of boys to girls is 5:1. Number of girls if there are10 boys.

Across

5. ratios are different ratios that name the same
comparison.

7. The number of boys when the ratio of boys to girls is 10:3 and
the number of girls is 3.

8. The middle word when you read 10:7
(“ten seven”).

9. A compares two quantities that have different
units of measure.

What runs but never gets out of breath?
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